Two Problems with Elegant ZPL Solutions

1. Imagine a representation of topography as a regular grid with an altitude (real number) at each grid point indicating the distance above sea-level. Further assume that there is a single highest point. If a raindrop falls on the highest point and takes a random (8-way) path strictly downhill, it will touch a subset of the points. Print a map (bits) showing all positions that could get wet by this process.
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should produce the result
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2. Given an adjacency matrix for an undirected, weighted graph, compute the distance matrix giving the shortest path between each pair of nodes. Though the matrix will be symmetric, ignore the redundancy. [Hint: The Floyd-Warshall Algorithm solves this problem using matrix multiplication, which suggests a parallel solution.]

